Read the sentences 1o cnmpiele the table.

Eric

Jessica

Ignacio

Vanessa

Age

Hair

Character

City
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1) The optimistic person doesn’t have brown hair 9) Vanessa is 6 years older than Jessica.

2) Jessica’s hair is blonde. 10)Jessica is 3 years younger than Ignacio.

3) The person who lives in Guadalajara has red hair. 11)Vanessa isn’t very optimistic.

4) The person with black hair is 30 years old. 12) The ambitious person lives in Monterrey.
5) lgnacio lives in Zapopan. 13)The woman with black hair is very sociable.
6) Eric is the youngest, 14)One man is 19 years old.

7) One person lives in Mexico Ciry. 15)Eric doesn’t live in Zapopan.

8) One man lives in Guadalajara, 16)'The generous person is younger than 30,

Answers (They are in white font)
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